Q.1 Y& seeret vl sitesar.
Ans X 1. g TIEY S
i 2. T GATehgA Sierel! ST,

X 3. gHe TR e,
X 4. gHA T St
Question Type : MCQ
Question ID : 630680304649
Option 11D : 6306801185145
Option 2 ID : 6306801185146
Option 31D : 6306801185148
Option 4 1D : 6306801185147
Status : Answered
Chosen Option : 2
Marks : 2
Q.2 't sr==vfia ong, fae wea Feft ar oft greTen '
Reprar SITft g areRER v ong?
Ans o 1.3aT 35
X 2. UTUTSART .
< 3. AThl 7T MUt
< 4. i .
Question Type : MCQ
Question ID : 630680304662
Option 11D : 6306801185199
Option 21D : 6306801185197
Option 31D : 6306801185198
Option 4 1D : 6306801185200
Status : Answered
Chosen Option : 1
Marks : 2
Q.3 @I JR0T AT a1 it oref o,
Ans o 1. 9 et AU AT
X 2. U BE hEg! hed GuaTel Hesur
X 3. 37E afsiuHTo iR qet Sreard
X 4. b1 7T R T
Question Type : MCQ
Question ID : 630680304658
Option 11D : 6306801185182
Option 2 ID : 6306801185184
Option 31D : 6306801185183
Option 4 1D : 6306801185181
Status : Answered
Chosen Option: 1
Marks : 2




Q.4 'forelt Yex Reuta g1 gaiey ! ' g1 areRman UehR Wi

Ans X 1. usAmeff

X 2. Teprreff
W 3. IRt
75 4. faermeff
Question Type : MCQ
Question ID : 630680304644
Option 11D : 6306801185125
Option 2 ID : 6306801185127
Option 31D : 6306801185126
Option 4 ID : 6306801185128
Status : Answered
Chosen Option: 3
Marks : 2
Q.5 '@ ar e fAwgeff eree 2nter.
Ans X 1.fm
X 2. srfaemsft
25 3. ST
w4 sifafaa
Question Type : MCQ
Question ID : 630680304652
Option 11D : 6306801185157
Option 2 1D : 6306801185158
Option 31D : 6306801185159
Option 4 1D : 6306801185160
Status : Answered
Chosen Option : 4
Marks : 2
Q.6 'HEE g 9HI il
Ans X 1. 3remftama
X 2. sgsiiet
o 3. FHYRY
X 485
Question Type : MCQ
Question ID : 630680304656
Option 11D : 6306801185173
Option 2 1D : 6306801185176
Option 31D : 6306801185174
Option 4 1D : 6306801185175
Status : Answered
Chosen Option: 3
Marks : 2




Q.7 ‘eI ATIET ot a1 Fgofiar aref WiTont gus wgur ete.

Ans X 1. SR URaw IER Hraot
2 2. aTaTeAT Tad Uasl vt
W 3. TS Udd ROy
75 4. 3UTh 8 dTehleR {TTEor

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680304659
6306801185185
6306801185186
6306801185187
6306801185188
Answered

3

2

Q.8 YEdh g .. J2ArUi giear YIahTa A1 HiT.
Ans X 1. 9g&d

X 2. @

X 3. TROTTEA

W 4. TN 31O et

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680304666
6306801185216
6306801185215
6306801185214
6306801185213
Answered

4

2

Q.9 'foRre' ot rsaTaT fAsgreff 2reg aiter.
Ans X 1. 3m@wE

X 2. 3@gs
X 3.%e
o 4910

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680304653
6306801185162
6306801185161
6306801185164
6306801185163
Answered

4

2




Q.10 31k ATRIRTT HIUT! Mg & 2Mter.
Ans X 1. ST g ATEHTET SHE Hiogd SudTd [T 73 a1 3g.

25 2. USRI Aifecd ardonET S @A Sudrd TS I3 aTeT $iTe

W 3. TSI WG eI 3HTe fAese JudTed 1T e arel 3ile.

X 4. AOTET TTEI AT 3T fAieser Suard sk 47 areT 31,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680304643
6306801185123
6306801185121
6306801185124
6306801185122
Answered

3

2

Q.11 'sfi RAgel: Uoh HETAH=T ' OT UAUTY GGk HIvT SATga?
Ans X 1.3 uéie

X 2. s $Ee

X 3. greRs Tredt

w4 RR

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680304667
6306801185218
6306801185220
6306801185217
6306801185219
Answered

3

0

Q.12 "3k TUThR} SRVIR' AGHAHETAE Qeh 205 forgt.
Ans X 1.fdar

i 2. HETOT
X 3. AR
75 4. ggsgaoT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680304647
6306801185140
6306801185137
6306801185139
6306801185138
Answered

2

2




Q.13 ST FHYRYT FATHTH I ufee U TearfALivor sraa a ST ARTRYeh 2saTaws+T QohT TH=aaTT st

glat , A<gT AT HIuTaT YHTH urara?
Ans X 1. fauhl aaqzy

W 2. 137
/< 3. IuUg IgY
X 423
Question Type : MCQ
Question ID : 630680304655
Option 11D : 6306801185169
Option 2 ID : 6306801185172
Option 31D : 6306801185171
Option 4 ID : 6306801185170
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 'A-frear M AgnT 3ngd. & arery TehrRTAT e
Ans X 1. foncft mgmT smea ar Afiea mieh
25 2. fiea TSt U @ SR,
wf 3. eitea Tl Toed A
2< 4. Afrear Tt HgTT SrdTeaTd.
Question Type : MCQ
Question ID : 630680304645
Option 11D : 6306801185130
Option 2 ID : 6306801185129
Option 31D : 6306801185132
Option 4 1D : 6306801185131
Status : Answered
Chosen Option: 3
Marks : 2
Q.15 WIeTig AATS Ti=AT HI0TT TUTH TR STehTeH] QRERR UTCH SATT TS ?
Ans X 1.5
o 2. iep1 WIR
X 3.9t
X 4 Rrger
Question Type : MCQ
Question ID : 630680304665
Option 11D : 6306801185211
Option 2 ID : 6306801185210
Option 31D : 6306801185212
Option 4 1D : 6306801185209
Status : Answered
Chosen Option : 4
Marks : 0




Q.16 VHTUTAEIIHR 3iTeh QUeE AT
Ans o 1. TR

< 2. SrcrraghT
< 3. arcfisgi=hr
75 4. Srcftrash
Question Type : MCQ
Question ID : 630680304663
Option 11D : 6306801185202
Option 2 ID : 6306801185201
Option 3 ID : 6306801185203
Option 4 ID : 6306801185204
Status : Answered
Chosen Option : 1
Marks : 2
Q.17 'ueera’ om QregTaT T oreg Qe
Ans X 1. usft
X 2.ugd
X 3. dg
W 4. TTeret
Question Type : MCQ
Question ID : 630680304650
Option 11D : 6306801185150
Option 2 ID : 6306801185151
Option 3 ID : 6306801185149
Option 4 ID : 6306801185152
Status : Answered
Chosen Option: 3
Marks : 0
Q.18 'hIcresdT=aT AMUTA T HR AATEY. 7goftam o aref @i,
Ans o 1. &fc HTUTHTR ATSC SeTOr ARTeAT ST STHT ST TR ATE.
75 2. 75 @G Iead ATel
X 3. &M TR o
X 4. g SroRTyTH Seroft AnTo
Question Type : MCQ
Question ID : 630680304657
Option 11D : 6306801185180
Option 2 ID : 6306801185178
Option 3 1D : 6306801185177
Option 4 ID : 6306801185179
Status : Answered
Chosen Option: 1
Marks : 2




Q.19 'g-ere a1 2reeT=n RASgrdf areg aften.

Ans X 1.7@®
w2 R
X 3.z
X 4. 3ars
Question Type : MCQ
Question ID : 630680304654
Option 11D : 6306801185166
Option 2 ID : 6306801185165
Option 31D : 6306801185167
Option 4 1D : 6306801185168
Status : Answered
Chosen Option : 2
Marks : 2
Q.20 'Hgelig AT daeh HiSTae. ' a1 ATl TanT e
Ans X 1. Hof
W 2.9
X 3. areptieh hadt
X 4. Gopddh Tt
Question Type : MCQ
Question ID : 630680304648
Option 11D : 6306801185142
Option 2 ID : 6306801185144
Option 31D : 6306801185143
Option 4 1D : 6306801185141
Status : Answered
Chosen Option : 2
Marks : 2
Q.21 'UTHTE O et GHETAT 2reg 2ntem.
Ans X 1.3t
X 2. Re_mua
X 3. dref
w 4. TgTe
Question Type : MCQ
Question ID : 630680304651
Option 11D : 6306801185154
Option 2 ID : 6306801185156
Option 31D : 6306801185153
Option 4 1D : 6306801185155
Status : Answered
Chosen Option : 4
Marks : 2




Q.22 'S TS FU UROT 0l ' IT ITRFEIRTAT 31 TRTOTRT ATRR HIvTET 31g?
Ans X 1. @ A0

< 2. UTER Geur
X 3. UR@ g
o 4. @I g&au
Question Type : MCQ
Question ID : 630680304661
Option 11D : 6306801185193
Option 2 ID : 6306801185195
Option 31D : 6306801185194
Option 4 ID : 6306801185196
Status : Answered
Chosen Option : 4
Marks : 2
Q.23 'R T AT 34 i
Ans X 1. ad
o 2. 978
Z< 3.t
X 4. fur
Question Type : MCQ
Question ID : 630680304646
Option 11D : 6306801185135
Option 2 1D : 6306801185133
Option 31D : 6306801185136
Option 4 1D : 6306801185134
Status : Answered
Chosen Option : 2
Marks : 2
Q.24 '’ IT AETAT LN TUTRT 2Aeg e
Ans X 1.T@
X 2.9R
X 3. =g
o 4. TR
Question Type : MCQ
Question ID : 630680304664
Option 11D : 6306801185207
Option 2 ID : 6306801185205
Option 31D : 6306801185206
Option 4 1D : 6306801185208
Status : Answered
Chosen Option : 4
Marks : 2




Q.25 'IATd gt a1 areRrEREn gt 312 i,

Ans o 1. 3 g0
X 2. 9d &Ro
X 3. IRTS e 9ot
X 4 U
Question Type : MCQ
Question ID : 630680304660
Option 11D : 6306801185190
Option 2 ID : 6306801185191
Option 31D : 6306801185189
Option 4 1D : 6306801185192
Status : Answered
Chosen Option : 1
Marks : 2
Section : English Language
Q.1 Select the most appropriate meaning of the underlined idiom.
My friend said, “l am a one-man army. All the work has been done.”
Ans X 1.Boss who doesn't listen to anyone
< 2. Movie hero
% 3. One who does everything on his own
X 4. Leader of many soldiers
Question Type : MCQ
Question ID : 630680252233
Option 11D : 630680978912
Option 2 ID : 630680978914
Option 31D : 630680978913
Option 4 ID : 630680978911
Status : Answered
Chosen Option: 3
Marks : 2
Q.2 Select the most appropriate punctuation mark to fill in the blank.
The manager told them that the responsibility of the project’s success belonged to
them
Ans X 1.7 (question mark)
w# 2. (period)
X 3., (comma)
5 4.1 (exclamation mark)
Question Type : MCQ
Question ID : 630680274732
Option 1 ID : 6306801067442
Option 2 1D : 6306801067439
Option 31D : 6306801067440
Option 4 ID : 6306801067441
Status : Answered
Chosen Option : 2
Marks : 2




Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Xavier had read / all the Shakespearean sonnets / by the time / he is 17 years old.
Ans 4 1. all the Shakespearean sonnets
< 2. by the time
X 3.heis 17 years old

Z5 4. Xavier had read

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680279733
6306801087192
6306801087193
6306801087194
6306801087191
Answered

3

0

Q.4 Select the most appropriate question tag to fill in the blank.
She never lied after that incident, ?

< 1. didn’t she

75 2. has she

o 3. did she

X 4. isn't she

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Marks :

McQ

630680252932
630680981708
630680981710
630680981709
630680981707

: Answered

3
2

Q.5 Select the option that expresses the given sentence in passive voice.

Sheetal could have rectified the mistakes in her certificate last month itself.

Ans X 1.The mistakes in her certificate could be rectified by Sheetal last month itself.

% 2. The mistakes in her certificate could have been rectified by Sheetal last month itself.

75 3. The mistakes in her certificate have been rectified by Sheetal last month itself.

/5 4. The mistakes in her certificate could have rectified by Sheetal last month itself.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680252193
630680978751
630680978753
630680978754
630680978752
Answered

2

2




Q.6 Select the most appropriate article to fill in the blank.

Manav broke cup my mother brought.
Ans o 1. the
X 2.alot
/< 3.this
X 4.an
Question Type : MCQ
Question ID : 630680280710
Option 11D : 6306801091078
Option 2 ID : 6306801091076
Option 3 ID : 6306801091075
Option 4 ID : 6306801091077
Status : Answered
Chosen Option: 1
Marks : 2
Q.7 Select the most appropriate meaning of the given proverb.
The wise man has long ears and a short tongue.
Ans X 1.Many tall men are wise.
o 2. A clever man listens much and speaks less.
/5 3. Aclever man speaks much and listens less.
#5 4. Many short men are wise.
Question Type : MCQ
Question ID : 630680252236
Option 11D : 630680978923
Option 2 ID : 630680978925
Option 31D : 630680978926
Option 4 ID : 630680978924
Status : Answered
Chosen Option : 2
Marks : 2
Q.8 Identify the part/parts of the given sentence that require punctuation marks.
Please and Thank you are the small change with which we pay our ways as social beings.
Ans X 1.'Thank You'
X 2. 'Please’
% 3. 'Please’ and ‘Thank you’
X 4. 'Please and Thank you’
Question Type : MCQ
Question ID : 630680252282
Option 11D : 630680979108
Option 2 ID : 630680979107
Option 3 1D : 630680979109
Option 4 1D : 630680979110
Status : Answered
Chosen Option: 3
Marks : 2




Q.9 Parts of the following sentence have been given as options. Select the option that contains

an error.

The children were playing happily besides the backyard.
Ans X 1.The children

75 2. the backyard
## 3. happily besides

X 4. were playing

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252181
630680978703
630680978706
630680978705
630680978704
Answered

3

2

Q.10 Select the most appropriate preposition to fill in the blank.

She is interested
Ans X 1.Inside

< 2. from
25 3.through

.‘f4. in

learning a new language.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252177
630680978687
630680978688
630680978690
630680978689
Answered

4

2

Q.11 Select the most appropriate verb to fill in the blank.

He resolved a major issue in a few minutes, and everyone
Ans 4 1. applauded

X 2. emphasised
< 3. meddled
/< 4. approached

for him.

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680277625
6306801078883
6306801078882
6306801078884
6306801078881
Answered

1

2




Q.12 Select the most appropriate ANTONYM of the given word.

Inert
Ans X 1.Dormant

/X 2. Updated
o 3. Active
X 4. Tolerant
Question Type : MCQ
Question ID : 630680252264
Option 1 ID : 630680979035
Option 2 ID : 630680979038
Option 31D : 630680979036
Option 4 1D : 630680979037
Status : Answered
Chosen Option: 3
Marks : 2
Q.13 How will you tell everyone in passive voice that your friend got a job yesterday? Choose the
correct option.
Ans X 1. My friend selected a job yesterday
o 2. A job was offered to my friend yesterday
/5 3. My friend had been selecting for a job yesterday
#5 4. Ajob has been selected by my friend yesterday
Question Type : MCQ
Question ID : 630680280591
Option 11D : 6306801090601
Option 2 1D : 6306801090600
Option 31D : 6306801090602
Option 4 ID : 6306801090599
Status : Answered
Chosen Option: 2
Marks : 2
Q.14 Select the most appropriate question tag to fill in the blank.
Please stop criticising others, ______ ?
Ans X 1.shallyou
< 2. aren'tyou
< 3. wouldn't you
o 4. will you
Question Type : MCQ
Question ID : 630680252929
Option 11D : 630680981698
Option 2 ID : 630680981697
Option 3 ID : 630680981696
Option 4 ID : 630680981695
Status : Answered
Chosen Option : 4
Marks : 2




Q.15 Select the most appropriate adverb to fill in the blank.

Heis vegetarian but eats eggs sometimes.
Ans X 1.rarely
< 2. usually
X 3. completely
o 4. almost
Question Type : MCQ
Question ID : 630680280618
Option 11D : 6306801090710
Option 2 ID : 6306801090709
Option 31D : 6306801090708
Option 4 1D : 6306801090707
Status : Answered
Chosen Option: 3
Marks : 0
Q.16 Select the INCORRECTLY spelt word in the following sentence.
A two-inch goldfish requires two gallons of water that contains adequakte oxygen to
support life.
Ans X 1.gallons
< 2.inch
o 3. adequakte
X 4. contains
Question Type : MCQ
Question ID : 630680252250
Option 11D : 630680978980
Option 2 1D : 630680978979
Option 31D : 630680978982
Option 4 ID : 630680978981
Status : Answered
Chosen Option: 3
Marks : 2
Q.17 Select the most appropriate synonym of the underlined word.
Hastily I took that trail which took me from a narrow gorge to an open field.
Ans X 1.Chasm
X 2.Glut
" 3. Gully
#< 4.Nibble
Question Type : MCQ
Question ID : 630680280611
Option 11D : 6306801090681
Option 2 ID : 6306801090680
Option 3 ID : 6306801090679
Option 4 1D : 6306801090682
Status : Answered
Chosen Option : 2
Marks : 0




Q.18 A part of the given sentence has been underlined. It contains an error. The underlined part
is given as options with some changes. Select the option that correctly rectifies the error.

Though the parents have asked the boy to stop playing, he was playing.

Ans X 1.he played
< 2. heis played
% 3. heis playing
Z5 4. he had been playing

Question Type :
: 630680252223
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

Question ID

McCQ

630680978874
630680978873
630680978871
630680978872
Answered

3

2

Q.19 Select the most appropriate option to fill in the blank.

The cat is sleeping peacefully on mat.
Ans X 1.by

X 2a

o 3. the
X 4. an

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 3 1D

McQ
630680274744
6306801067490

: 6306801067488
: 6306801067487
Option 4 1D :
Status :

Chosen Option :
Marks :

6306801067489
Answered

2

0

Q.20 Select the most appropriate preposition to fill in the blank.

He lives a small apartment in the city centre.
Ans X 1.for

X 2. under
< 3. from

" 4.in

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680252176
630680978685
630680978683
630680978684
630680978686
Answered

4

2




Q.21 Select the most appropriate adjective to fill in the blank.

Most doctors are ___ when suggesting any prescription to their patients, due to possible

allergic reactions.
Ans X 1.rapid

< 2. filthy
% 3. cautious
X 4. messy
Question Type : MCQ
Question ID : 630680277637
Option 11D : 6306801078932
Option 2 ID : 6306801078929
Option 31D : 6306801078931
Option 4 1D : 6306801078930
Status : Answered
Chosen Option: 3
Marks : 2
Q.22 The given sentence has an error. Select the appropriate tense option which rectifies the
sentence.
Mrs Suma will have being teach for twenty years this coming September.
Ans X 1. Mrs Suma will have been teach
#< 2. Mrs Suma should
25 3. Mrs Suma was
w# 4. Mrs Suma will have been teaching
Question Type : MCQ
Question ID : 630680281051
Option 11D : 6306801092442
Option 2 ID : 6306801092439
Option 31D : 6306801092441
Option 4 1D : 6306801092440
Status : Answered
Chosen Option : 4
Marks : 2
Q.23 Select the most appropriate synonym of the given word.
Forbid
Ans X 1.Impudent
X 2. Polish
< 3. Refusal
## 4. Prohibit
Question Type : MCQ
Question ID : 630680252271
Option 11D : 630680979066
Option 2 ID : 630680979063
Option 31D : 630680979064
Option 4 ID : 630680979065
Status : Answered
Chosen Option : 1
Marks : 0




Q.24 Select the INCORRECTLY spelt word in the following sentence.

He is an excelent guitar player and performs at local venues.

Ans X 1.local
X 2. player
o 3. excelent
X 4. guitar
Question Type : MCQ
Question ID : 630680252186
Option 11D : 630680978725
Option 2 ID : 630680978724
Option 31D : 630680978726
Option 4 1D : 630680978723
Status : Answered
Chosen Option : 2
Marks : 0
Q.25 Select the most appropriate meaning of the given proverb.
Give the devil his due
Ans X 1. Staying away from enemy
/5 2. Feeling happy for oneself
%" 3. Appreciating an opponent’s merits
75 4. Leaving the grudges
Question Type : MCQ
Question ID : 630680252255
Option 11D : 630680978999
Option 2 ID : 630680979002
Option 3 ID : 630680979001
Option 4 ID : 630680979000
Status : Answered
Chosen Option : 4
Marks : 0
Section : General Knowledge
Q.1 ErefieTtehl VIR ARTR<eaT=T gerpra fafSaa= srvarn ifder smg?
Ans X 1. gatw gETeg
X 2. 3 AfHEs
X 3. gudt
o 4. 1T
Question Type : MCQ
Question ID : 630680270495
Option 11D : 6306801051167
Option 2 1D : 6306801051168
Option 31D : 6306801051166
Option 4 ID : 6306801051169
Status : Answered
Chosen Option : 4
Marks : 2




Q.2 wrefierdhl v siergaoiia saaaa aimg?
X 1. Shagga-K
X 2. Sftewrgea-D
X 3. Shaga-E
o 4. Sferaa-B

Ans

Question Type :
Question ID :

Option 11D

Option 3 ID
Option 4 ID

McQ
630680275894

: 6306801072087
Option 21D :

6306801072089

: 6306801072088
: 6306801072090
Status :
Chosen Option :
Marks :

Answered
4
2

Q.3 Ui 2023 #ed, dees AT 33 gees ATt U= Hraff=a heear sfor wit

Jehaledqed NARITIATE ool FTeedT ufgear OR-SHeil aiferd wdee Sigreira A1d i 3ig?

Ans X 1. 3Red) &mrer 7w (RV Bengal Ganga)
75 2. 8RS (Heritage-l)
w# 3. gl (Sooryamshu)

< 4.7 g+l (Ganga Voyager-l)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680275518
6306801070585
6306801070586
6306801070584
6306801070583
Answered

3

2

Q.4 2023 7, Wicfierdh HIoTET 517 ATIOY 1R Aue-e Meg-R i g g=gsiia dad=

[RERRTA GHIE het Tt S T ha M US2ATAI MTUT HeaefHream UaeTiard) qRepd

gromd ufgelt afgen swear amga?
X 1. vgstaar

X 2. TERd gt

o 3. St HR

2 4. gEmgeht

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275488
6306801070464
6306801070463
6306801070465
6306801070466
Answered

3

2




Q.5 gEfdehedi (Alleles) srgdzrgear wamean ______ 3isft dheft wrd.
Ans X 1. TURE S ST Sed

W 2. ST qaklt =

X 3. Si= Sft Tere smed

75 4. urdt e

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680270210
6306801050094
6306801050091
6306801050092
6306801050093
Answered

1

0

Q.6 FHT $US-ARTST JFTd S 331 Fufra weg-k S1eet ivr gia?
Ans X 1.3rA &t

X 2. e TR

W 3. 7T daeht

X 4.« dei

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275904
6306801072129
6306801072130
6306801072127
6306801072128
Answered

1

0

Q.7 2011 =1 STRVATHR, WRATH QeRor Atensizet fahedt ama?
Ans X 1.1.36 37saT

< 2.1.14 31
W 3.1.21 3
< 4.1.01 3rsst

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270185
6306801049994
6306801049993
6306801049991
6306801049992
Answered

3

2




Q.8 @refterdh ivft AGHTE Tdeht TieaTHad GATATS! ‘T dTet fALTOT Ter' TATA Hell?

Ans

< 1. st R

X 2. wifaf¥g 91 e
X 3. T faeter W

o 4. RIS s

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680287399
6306801117506
6306801117505
6306801117503
6306801117504
Answered

3

0

Q.9 EGd et wuf-2022 Awueges At i mMardt @reieaddt wvrar wdsf @it om?

Ans

K1 s
X 2.593d
< 3. 7T theh
W 4. 39 dls

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270512
6306801051235
6306801051234
6306801051236
6306801051237
Answered

4

2

Q.10 2022 7% Fg ARfSics g for werftevor w3l =F. fi¥e AR g FR1ar snfoy e

Ans

AT Fed IZAUT=aT T FARTR0T FRuaTETd) G hetedn Tis= ATa S/ 3mg?

75 1. SMARTH 75
/< 2.LIFE75

o 3. SMILE 75
7$ 4. MILE 75

Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276096
6306801072897
6306801072896
6306801072898
6306801072895
Answered

1

0




Q.11 WRBRAT U EWFUTRH @Tefieiteh! hlvra afdrea @ yRda dfdumren afreaiata aq A

Ans

X 1. Frfer @ ffdvsem gewr sryard
X 2. 9gAd feaciea uema amae

W 3. aRE guTEr fqustt
X 4 TpRY HhvHEs @y

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287345
6306801117287
6306801117289
6306801117288
6306801117290
Answered

3

2

Q.12 arfgd=n fArrR ifAfaad, 2005 =1 HIVTAT HeAHTT ‘FRIHH TR HUATHATS! TG TR’

e Soeid HTg?
Ans X 1.%aH 25
W 2. A 26
X 3. %eaH 28
X 4. Faq 27
Question Type : MCQ
Question ID : 630680275353
Option 11D : 6306801069923
Option 2 ID : 6306801069924
Option 3 1D : 6306801069926
Option 4 ID : 6306801069925
Status : Answered
Chosen Option : 4
Marks : 0
Q.13 TIUThT=AT BTE faTehadiel TETEN i< 3Td ST Hhiestell TEUTATd.
Ans X 1. WR< thiesR
o 2. T9 ek
< 3. 3t iR
X 4. ST HiesR
Question Type : MCQ
Question ID : 630680275756
Option 11D : 6306801071537
Option 2 ID : 6306801071536
Option 31D : 6306801071538
Option 4 1D : 6306801071535
Status : Answered
Chosen Option: 3
Marks : 0




Q.14 iegsR 2022 A<, Wielierdhl v fEahroft sfaes enffes guron, smifae ™ armE
G, F2fSiee uRad=, anga Soif Sermor Snfor gamT Tee areR Ffed e aa9= ‘Repegr

TR, Rereg? B’ @ Rrvags sraeht gt Rawfia 6-20 AR aRug ar usei?

Ans X 1.& g (Honey Lacuna)

o 2. arct (Bali)
/< 3.94\ 99 (Phnom Penh)
X 4. af3er (Manila)
Question Type : MCQ
Question ID : 630680275506
Option 11D : 6306801070537
Option 2 ID : 6306801070535
Option 31D : 6306801070538
Option 4 ID : 6306801070536
Status : Answered
Chosen Option : 2
Marks : 2
Q.15 g geaAfgdt omgeh ____ TiFT ILYF STUAT IS -ITHT 435 2AhelTd.
Ans o 1. TeAd ToaTd gl
X 2. Fpae sremer
X 3. YRAr gage
X A, IRAT IWRTEU
Question Type : MCQ
Question ID : 630680275371
Option 11D : 6306801069995
Option 2 ID : 6306801069998
Option 31D : 6306801069996
Option 4 ID : 6306801069997
Status : Answered
Chosen Option : 4
Marks : 0
Q.16 @refterdeht shivra/dt e/ s_ieR sme/sméa?
1) 1802 A< qHS=T dg SATAT.
2) 1804 wed gutizft IeTqRETET 98 FIe.
Tt g femri=an R @reflerdd wlv SRieR ma?
Ans X 1.%h2
X 2.1 anfor 2 S
< 3.1 fokar 2 Akt gergt e
o 4.1
Question Type : MCQ
Question ID : 630680275906
Option 11D : 6306801072136
Option 2 ID : 6306801072137
Option 31D : 6306801072138
Option 4 ID : 6306801072135
Status : Answered
Chosen Option : 2
Marks : 0




Q.17 2011 =T SUATHR, 0T heg2nfRa we2nma Afger qrerdar = gaffds nd?

Ans X 1.90Ts
X 2. Rt
W 3. Aerglu
< 4 gg‘élﬂ
Question Type : MCQ
Question ID : 630680270567
Option 11D : 6306801051455
Option 2 ID : 6306801051454
Option 31D : 6306801051456
Option 4 ID : 6306801051457
Status : Answered
Chosen Option: 3
Marks : 2
Q.18 wrdifies Tea uH qeh (2 o SiTeh & g %) & ai-f ffgst gia.
Ans X 1.sRfdg gy
< 2. gy TR
X 3. IETETRS SIS
W 4. SO MideRE gt
Question Type : MCQ
Question ID : 630680275931
Option 11D : 6306801072237
Option 2 ID : 6306801072238
Option 31D : 6306801072236
Option 4 ID : 6306801072235
Status : Answered
Chosen Option : 4
Marks : 2
Q.19 wivreT 31 Samed ufd=ia yaTor Yaffdes smg?
Ans X 1.aiar
X 2.9t
X 3. quia
o 4. T
Question Type : MCQ
Question ID : 630680270219
Option 11D : 6306801050128
Option 2 ID : 6306801050130
Option 31D : 6306801050127
Option 4 1D : 6306801050129
Status : Answered
Chosen Option: 3
Marks : 0




Q.20 WRaT=T Yai=a A=A 3T Aufa dhegt e Y, ivrangl srraar=ht gifdarHerar seeaarn,
SR Q@TeE Il 3 $Tecd 6, R srer g1 gesd sdard! sinssstanit se

3idd o, &= & srg=de 14 fhar 19 = Hewla s/ wrger ‘arsTdt’ AT Ahara?
X 1.1994

7 2.1995
W 3.1992
2 4.1991

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

McQ
630680287352
6306801117317
6306801117318
6306801117316
6306801117315

: Marked For Review
Chosen Option :

1

Marks : 0
Q.21 =T N Wiefierdeh shiorar uroft srressal?
Ans X 1.f3=m
g 2. ST e
2 3. ettt srae
X 4. arfrars g
Question Type : MCQ
Question ID : 630680270533
Option 11D : 6306801051321
Option 21D : 6306801051318
Option 31D : 6306801051319
Option 4 ID : 6306801051320
Status : Answered
Chosen Option : 4
Marks : 0
Q.22 YRATde TR-11 3nfor TR-11l =ar rgRimee wrésr mnuol, ik guda &=l &i=m arequt enfor
gt FeTero} graTdY gl fafSes $fEan fier 2022 (Digital India Week 2022) wed,
a1 SIU-Yeh WIS WiChiHd IgIe dat.
Ans X 1.fefSea &fEar sieiR¥ (Digital India OASIS)
X 2. f3fSiear gfean uifett (Digital India PRODIGY)
X 3. s Sfear vfrreg (Digital India EXCELLENCE)
o 4. fefSe e SRR (Digital India GENESIS)
Question Type : MCQ
Question ID : 630680275567
Option 11D : 6306801070779
Option 2 ID : 6306801070781
Option 31D : 6306801070782
Option 41D : 6306801070780
Status : Answered
Chosen Option : 2
Marks : 0




Q.23 TRBRA UTHIUT S7feaaAT T5ehe HRUATHATST SMIOY THaT’ (TM=AesT) TiFT Iushiada

he, aRfAUTTETS Tam™ed 300 UrivT Sfierifier ST IURE! emad.

Ans o 1. oIS

X 2. gREE
X 3.7ERIE
X 4. IREs
Question Type : MCQ
Question ID : 630680275565
Option 11D : 6306801070771
Option 21D : 6306801070772
Option 31D : 6306801070774
Option 4 ID : 6306801070773
Status : Answered
Chosen Option : 1
Marks : 2
Q.24 W@refierdehl sivrd/aRiord faram=/faums ahg sng/smga?
A) |t forea=t sAfergeR U9 Qae 1878 Hed ey thell gidl.
B) T Weh1Rl, WIRe AEIR, SahT UehIT S0 HHTIR TiATfaeg e U ofae siaifa
HIRATS HITAT TeA.
Ans & 1. A STIf0Y B
X 2. A gl gt fohar B €Y A6t
X 3. Fa= B
X 4. Faes A
Question Type : MCQ
Question ID : 630680275269
Option 11D : 6306801069589
Option 2 ID : 6306801069590
Option 31D : 6306801069588
Option 41D : 6306801069587
Status : Answered
Chosen Option : 1
Marks : 2
Q.25 @refterdehl shivreaT FaTeTgUTRa 1889 Aed Has A2t ‘2MRET He' G hel?
Ans o 1. UfEa T
X 2. affiers ot
X 3. dRETE Aissh
X 4. armeTs R
Question Type : MCQ
Question ID : 630680275319
Option 11D : 6306801069790
Option 2 ID : 6306801069788
Option 31D : 6306801069787
Option 41D : 6306801069789
Status : Answered
Chosen Option : 1
Marks : 2

Section : General Intelligence




Q.1 Ueh &R & AgRE=T= 60 km/h ST vars ha 3for ure Aar=r fa=m 3 40 km/h srTat.
8T J AT U T UTgedT eI U=t A ST 101 uReft=an Jes dvmrean e
AT uRe At R HYUT veraTeRTT=ET faEr SRRt & et

Ans o 1.40 km/h

#< 2.55km/h
< 3.50 km/h
X 4.48 km/h
Question Type : MCQ
Question ID : 630680288014
Option 11D : 6306801119966
Option 2 ID : 6306801119963
Option 31D : 6306801119965
Option 4 ID : 6306801119964
Status : Answered
Chosen Option : 1
Marks : 2
Q.2 @refier feRTHg-Sisaindie SeR-THgHT SR YhAehiaf Ha g AravhR Y
S sraREE-SEl Rewar wafaig fAasr.
DGJ : FFL
LNP : NMR
MRV : 0QX
Ans .,,f 1. HMQ : JLS
X 2.PLT: SEC
< 3.ABC:CBA
X 4. MOE:TUV
Question Type : MCQ
Question ID : 630680271577
Option 11D : 6306801055381
Option 2 ID : 6306801055382
Option 3 ID : 6306801055380
Option 4 1D : 6306801055383
Status : Answered
Chosen Option : 1
Marks : 2




Q.3 R arferent arfdhergean gof awvarard) s (?) Sl &R enet uifg=s?

LDV12, EWO18, XPH24, ?
(E1a: T T a1 hass - 3ihl Tt engd.)

Ans X 1.PIA32
w# 2. QIA30
< 3.QlA32
/< 4.QLB30
Question Type : MCQ
Question ID : 630680272856
Option 11D : 6306801059984
Option 2 ID : 6306801059986
Option 31D : 6306801059985
Option 4 ID : 6306801059983
Status : Answered
Chosen Option : 2
Marks : 2
Q.4 & @ 15 aufd Trare aarsi= faean @a:=ar gue gia. fnedt aemasdia ot faen @@= 8 ue
et (anfifers TorT e 9)?
Ans X 1.60T%
X 2409w
o 3. 45T%
X 4.30a%
Question Type : MCQ
Question ID : 630680287998
Option 11D : 6306801119901
Option 2 1D : 6306801119899
Option 31D : 6306801119902
Option 4 1D : 6306801119900
Status : Answered
Chosen Option: 2
Marks : 0
Q5 WMSFTaAT:3.5+4.9+0.5%x0.3-0.1.
Ans X 1.0.864
< 2.0.224
o 3.0.764
X 4.0.324
Question Type : MCQ
Question ID : 630680287282
Option 11D : 6306801117035
Option 2 1D : 6306801117038
Option 31D : 6306801117036
Option 4 1D : 6306801117037
Status : Answered
Chosen Option : 1
Marks : 0




Q.6 gusft gquighaTeR SmenfRa TWATER ‘NRVH' @ ‘PTXJ’ 2ft fafdte uerr Gefda smg. smaveR,
‘PDXI' § ‘RFZK’ ft Heifde 3118, aR a1 dehiqaR @iefierdehl s TLQM 2ft Heifdra sr&ter?

Ans X 1.WNSO
< 2.V0SOo
5 3. WOTP
w# 4. VNSO
Question Type : MCQ
Question ID : 630680273569
Option 11D : 6306801062797
Option 2 ID : 6306801062796
Option 31D : 6306801062798
Option 4 1D : 6306801062795
Status : Answered
Chosen Option : 4
Marks : 2
Q.7 el ferR, T, Rigi=ar arferdhan e = Srfoy usim< SR &
(31?ﬁ)QW3*85UK@PJ+3#&TLH(3GIEﬁ)
A 32 foreht TeaT enda, Sui=aT wTa aneft Ues 31aR 3nfoY SiTae HeaR Uk 31erk Ad?
Ans X 1.T&
Xo2am
X 3.d=
w# 4. Qb ATRl
Question Type : MCQ
Question ID : 630680271553
Option 11D : 6306801055284
Option 2 ID : 6306801055285
Option 31D : 6306801055286
Option 4 ID : 6306801055287
Status : Answered
Chosen Option : 4
Marks : 2




Q.8 R Ry snfoy e wergdes aran. Rummea RAHh arfgdht & smm=agot sra awiden
NSS! AT 3MTEBA, al ol T 3T 3 T o, fciear FRepufah wiorar/a frend

Ans

fectear fremish ahena em/emed & a<ar.

faem:
Td gey, ATRS JHTed.
T HATRR, TFH 1.
fArentf:
(1): GehgY TR, HIhS AATEY.
(Il): & FeTTRR, GO STRd.

X 1. b sy (1) aehTd oTe.

g 2. sepd (1) e (11) SehY Qeng! qeheTe e,
25 3. fsem (1) Smfor (1) B Sgt adhaiTa e

X 4. oeh fsR (1) qhgTa ormg.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276573
6306801074787
6306801074789
6306801074790
6306801074788
Answered

2

2

Q.9 SR'A =m 3 '+ 3@« ‘B’ Ar 31 ‘x’ 3r&e, ‘C’ Ar 3 ‘-’ 3@« Infor ‘D’ = 3ref ‘+ 3, R

Ans

@refier gefterroa usiRgre (?) snft o ase?

44D44A2B3C49=2
X 1.53

X 2.57

o 3. 61
X 4.55

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680278573
6306801082578
6306801082580
6306801082577
6306801082579
Answered

3

2




Q.10 900 km =oT UeTHTATS!, Teh geh 50 km/h & ufget 300 km SiaR Uam ehrdl. IR siar fahelt

A UR et UIfgst, Suleres GRS a1 60 km/h 3r@«?

Ans 5 1. 52 km/h

200

o 2. Tkﬂlﬂ]

X 3. 72 km/h

750
X4 —km/h
11

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680287314
6306801117164
6306801117163
6306801117166
6306801117165
Answered

2

2

Q.11 et fafe Twd=ar awq 2150 fhaedien 3 anmrot @Rl dhear enfor < wd 180 fhwdten 4 ar

1O fehear. T fehar A=t cadhar<t 2nte.

Ans X 1.11.11%drer
W 2. 10% dter
% 3.10% TH
X 4.11.11% T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287324
6306801117206
6306801117204
6306801117203
6306801117205
Answered

2

2




Q12 gt ol WS BT 21,200 218 20107 fa fbud e WX fbadi=n

> e 3Te. T fdar dieard! cadhard =i,
Ans X 1.20% dter
X 2.25%drer
W 3. 25% T
X 4. 20% T
Question Type : MCQ
Question ID : 630680287322
Option 11D : 6306801117196
Option 21D : 6306801117198
Option 31D : 6306801117197
Option 4 ID : 6306801117195
Status : Answered
Chosen Option: 3
Marks : 2
Q.13 Reeur arferdhdie usiRegre (?) smft @refierdd sired T ada?
315 347 389 441 503 ?
Ans X 1.557
W 2. 575
7 3.569
< 4.541
Question Type : MCQ
Question ID : 630680278936
Option 1 ID : 6306801084025
Option 2 ID : 6306801084027
Option 31D : 6306801084028
Option 41D : 6306801084026
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 FIEt AT 12 RRawid Teh 1 e AT, I12AT ATORI=AT FWE T T hrTan = wmr
FRuaT fohelt Raw anTefter?
Ans X 1.4fag
o 2.3 g
X 3.6f@w
X 4 12Raw
Question Type : MCQ
Question ID : 630680287302
Option 11D : 6306801117116
Option 2 ID : 6306801117118
Option 31D : 6306801117115
Option 4 ID : 6306801117117
Status : Answered
Chosen Option: 2
Marks : 2




Q.15 Teh R 60 km/h SR ST1d @. 3 ar¥i=aR, fa=m a1 80 km/h wdfd arefaen 4t snfoy R
oot Aiguargdf g1 37 2 TS IRAAT Sl O MEN UR dhetet 3ieR fahedt ema?

Ans X 1.300km

< 2.350 km
X 3.320km
af 4. 340 km
Question Type : MCQ
Question ID : 630680288011
Option 11D : 6306801119954
Option 21D : 6306801119951
Option 31D : 6306801119953
Option 4 ID : 6306801119952
Status : Answered
Chosen Option : 4
Marks : 2
Q.16 i<t mferenT arfchergean ot sheoaraTd! usifR=great (?) SIRf g simet uTfgst?
MG2, OH4, Ql6, ?
Ans X 1.AB5
X 2.BA5
" 3.5J8
X 4.Js8
Question Type : MCQ
Question ID : 630680276689
Option 11D : 6306801075253
Option 2 ID : 6306801075254
Option 31D : 6306801075252
Option 41D : 6306801075251
Status : Answered
Chosen Option : 3
Marks : 2
Q.17 urEy C YeheaT™ Gt erehiet 12 fafeie W= erepat ax urdy A snifor urdu B garst faeH 6 fafdeia
= AT, Stegl Uy A 7 geh ffAe s fefl, 71 geft 2 fafae arda ¢ 7 e Reft snfor sz
Ty A 7 3oy 31 ITqe ¥ Saary, <t ereht 16 fAfAeia wRa. @R dmar urdue e gahea
WRUGIATS! el fAfAR emrefier?
Ans o112
< 2.36 AfA2
X 3.18fafe
X 416 fae
Question Type : MCQ
Question ID : 630680288050
Option 11D : 6306801120109
Option 2 ID : 6306801120107
Option 31D : 6306801120110
Option 4 ID : 6306801120108
Status : Answered
Chosen Option : 1
Marks : 2




Q.18 A 31for B Uk &hiH 3iehR 6 fad amfoY 8 Rawia ohe= 2rehdTa. C =1 #edx, it 3 Rawia @

1 guf chet S11fOY 21,848 THATaw. dTeier C =T arer fahet giar?

Ans o 1.2231

X 2.3462
X 3.3324
7 4.3693
Question Type : MCQ
Question ID : 630680288031
Option 11D : 6306801120031
Option 21D : 6306801120033
Option 31D : 6306801120032
Option 4 ID : 6306801120034
Status : Answered
Chosen Option : 1
Marks : 2
Q.19 IR A=-Sitsar Reur sngd, saiddh 9 gan fafre a2+ g snga enfor gas awredt eng. Tera
= It fRaet.
Ans o 1. TSI - M6
X 2.9R¥ - AR
X 3. B -d=
X A YT - gl
Question Type : MCQ
Question ID : 630680279311
Option 11D : 6306801085513
Option 21D : 6306801085511
Option 31D : 6306801085514
Option 4 ID : 6306801085512
Status : Answered
Chosen Option : 1
Marks : 2
Q.20 T TRFA 2 IuTETS! FRaeaTsiTe fafre anffer @ e feft. e wrden e 3%
3R &M aae 14, TR 2 auid STHT AT TReaTs 240 Sl ¥4, &R g Wahd
efte.
Ans X 1.%16,000
< 2.36,000
W 3.34,000
X 4.324,000
Question Type : MCQ
Question ID : 630680287982
Option 11D : 6306801119838
Option 2 ID : 6306801119837
Option 31D : 6306801119835
Option 41D : 6306801119836
Status : Answered
Chosen Option : 1
Marks : 0




Q.21 arfhergean gof wvarardt usiRgre (?) St 3% 2reRomR sieRie g Rewar uafaiga Rasr.
SD86, YX77, ER68, ?

Ans ...f 1. KL59

2 2. JK51
X 3.MN54
X 4. MK59
Question Type : MCQ
Question ID : 630680279292
Option 11D : 6306801085436
Option 2 ID : 6306801085435
Option 31D : 6306801085437
Option 4 ID : 6306801085438
Status : Answered
Chosen Option : 1
Marks : 2
Q.22 1x0.3x0.01x 0.003 3 g4 freft arde?
Ans .‘f 1.0.000009
/< 2.0.00003
/< 3.0.000027
/X 4.0.00009
Question Type : MCQ
Question ID : 630680287286
Option 11D : 6306801117051
Option 2 ID : 6306801117054
Option 31D : 6306801117052
Option 4 ID : 6306801117053
Status : Answered
Chosen Option : 1
Marks : 2
Q.23 ¥R 3eTe fet armad. @rdeh! i< fafe uerR Iwm sngd enfor sreRieTesh et ome. at avrest
srere fAaet.
Ans X 1.WUP
W 2. LJF
X 3.TRM
X 4. 0MH
Question Type : MCQ
Question ID : 630680273659
Option 11D : 6306801063157
Option 2 1D : 6306801063156
Option 31D : 6306801063155
Option 4 ID : 6306801063158
Status : Answered
Chosen Option : 2
Marks : 2




Q.24 R el usiRgran (?) Snht @/ siet arfgst?
97,102,111, 124,7?, 162

Ans X 1.148

o214
% 3.143
X 4.144
Question Type : MCQ
Question ID : 630680272922
Option 1 ID : 6306801060247
Option 2 ID : 6306801060248
Option 31D : 6306801060250
Option 41D : 6306801060249
Status : Answered
Chosen Option : 2
Marks : 2
Q.25 R fRum snfor s srergden aran. Rumimsd Reeh afgdt & arm=gust wra auaiden
S AT TES, a9 T 3 31 TE e, e Rsrufdhr storan/a s
Retear frum=iht adhdma smg/emdd g san.
farem:
T et uroft enga.
Qehg ATo wroft Arg.
fArsepf:
(1): TEY Ao et emgd.
(I1): & gt Aot smae.
Ans X 1. %h st (1) GehdiTd STe.
X 2. ok Ry (1) JhTTT SR,
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